
MATHS

BOOKS - CENGAGE MATHS (HINGLISH)

SEQUENCE AND SERIES

Question Bank

1. Number of terms common to the two. sequences 17,21 ,25, ..., 417 and

16,21,26, ldots, 466 is

View Text Solution

2. If the value of  is a two digit number, then

the sum of digits, is

View Text Solution

∑
r

= 050(2r + 1)( − 1)r

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PHJ8bYfnXXMn
https://dl.doubtnut.com/l/_idFOwT4Z3QGK


3. Let  and  . If  assumes

its least value, then  is equal to

View Text Solution

a, b, c ∈ R+ 2ab3 + a2b3 + b3 = 243 2a + 3b + 2

a + b

4. If  upto  , then the value

of d is

View Text Solution

3 + (3 ÷ d) + (3 + 2d) + . . +
1

4

1

42
∞ = 8

5. Evaluate: 

View Text Solution

[(2 + 1)(22 + 1)(24 + 1)l(28 + 1)(216 + 1) + ]
1

232

6. If  and  are the first three terms of a G.P. in

order, then find the  term of the sequence, 
 [Note: 

2p, p [p2 − 14], p ∈ R − 0

50th p, 3p, 6p, 10p, ….

https://dl.doubtnut.com/l/_idFOwT4Z3QGK
https://dl.doubtnut.com/l/_UE25o35UkNi6
https://dl.doubtnut.com/l/_aMJht9Cdxw3t
https://dl.doubtnut.com/l/_bBmhEkrkLo9r
https://dl.doubtnut.com/l/_BW512kkkxyUK


 denotes greatest integer function of 

View Text Solution

[y] y. ]

7. Consider two positive numbers  and . If arithmetic mean of .and 

exceeds their geometric mean by  and geometric mean of  and 

exceeds their harmonic mean by , then the absolute value of 

is equal to

View Text Solution

a b a b

3

2
a b

6

5
(a2 − b□ )

8. The difference between the sum of the first  terms of the series

 and the sum of the first  terms of 

 is 1980 . The value of  is

View Text Solution

k

13 + 23 + 33 + . . + n3 k

1 + 2 + 3 ÷ ... + n k

https://dl.doubtnut.com/l/_BW512kkkxyUK
https://dl.doubtnut.com/l/_QqzbwxZfmLGJ
https://dl.doubtnut.com/l/_zp6BIuRthXES


9. Let  are zeroes of 

 and  are

zeroes of . If  (taken

in that order) are in arithmetic progression and  (taken in that

order) are in harmonic progression, then find the value of 

View Text Solution

α, β, γ, δ

P (x) = 5x4 + px3 + qx2 + r...x ÷ s(p, q, r, s ∈ R) α, γ, δ

Q(x) = x3 − 9x2 ÷ ax − 24(α < β < γ < δ) α, γ, δ

α, β, γ, δ

∣
∣
∣
P (1)

∣
∣
∣

1

Q

10. If , then the

value of 

View Text Solution

13 + 33 + 53 + ... + 43 + 63 + (2k)3 =
(2k − 1)3

23

199

242
k

5

11. Let  be in A.P. and  be in H.P. If

 then  is

View Text Solution

a1, a2, . . , a10 h1, h2, ...h10

a1 = h1 = 2a10 = h10 = 3 a4h7

https://dl.doubtnut.com/l/_jSOwnAr3VlQ8
https://dl.doubtnut.com/l/_oiaPU1WtsnMo
https://dl.doubtnut.com/l/_8gdAcAygWKG4
https://dl.doubtnut.com/l/_jkpOylDqZL69


12. The sum of the first 10 terms of the series

 is m/n the find the value of (n -12 m) .

View Text Solution

52 + 82 + 112 + ….
7

22

13

52

19

82

13. The value of  is equal to

View Text Solution

∑
n

= 2∞ + n2(n2 − 2)
n

1

14. Let  then  is equal to

View Text Solution

S = ∑
k

= 0∞ ^ k + 1
2k

72

1

S

15. If  and , then

, where a, b and c are poositive integers. The value of  is

équal to (where  )

x = log 2 y = log 3

a + bx + cy = [log 1 + log(1 + 3) + log(1 + 3 + 5) + ... + log(1 + 3 + 5 +

2a + 3b + 5c

loga = log10 a

https://dl.doubtnut.com/l/_jkpOylDqZL69
https://dl.doubtnut.com/l/_fnaFSQKZ1psA
https://dl.doubtnut.com/l/_xSxdLU8N0pg1
https://dl.doubtnut.com/l/_z17fyMuEQdMm


View Text Solution

16. Least value of  for which  to  terms exceeds'900 is 

, then  is equal to

View Text Solution

n 3 + 6 + 9 + …. n

k √k

17. A_1, A_2 .., A_n

A_3 A_6 k (k/4)` is equal to

View Text Solution

narithmeticmeans

are ∈ sertedbetween7 and 49sucht∑̂ ofthesemeansis364. IftheG. M.

and is , then

18. If  are G.M. between positive number  and  is one arithmetic

mean, then  is equal to

View Text Solution

p, q, r ab A

(p2 + q)
r2

A

https://dl.doubtnut.com/l/_z17fyMuEQdMm
https://dl.doubtnut.com/l/_tSqKlOwhlSEQ
https://dl.doubtnut.com/l/_V4hMLm3n57E2
https://dl.doubtnut.com/l/_jJnqdV4pX5Lf
https://dl.doubtnut.com/l/_TV0Mlno0R676


19. Let  be four numbers such that  are in G.P. with common

ratio 3 and  are in . with common difference 2 , then 

 is equal to

View Text Solution

a, b, c, d b, c, d

a, b, c A. P

a + b ÷ c + d

20. 

upto 10 terms =  where a b are relatively prime, then  is equal to

View Text Solution

1 + (1 + 2) (13 + 23) + (1 + 2 + 3) (13 + 23 + 33) + (1 +
1 + 3

22

1 + 3 + 5

32

a

b
a − b

21. If the first and third terms of a G.P. áre  and  respectively

and arithmetic mean of these terms is 5 , then the ratio of third and first

term is

View Text Solution

a − 2 a + 6

https://dl.doubtnut.com/l/_TV0Mlno0R676
https://dl.doubtnut.com/l/_sNdfd32qQkux
https://dl.doubtnut.com/l/_MET9CbcEBpXo


22. If  are in H.P., then the value of  is

View Text Solution

√3, H, √2
H + √2

H − √2 +
H + √3

H − √3

23. If , then least value of n

such that , is

View Text Solution

Sn = 1 + + + ... + − 1, n ∈ N
1

3

1

32

1

3n

3 − 2Sn <
1

100

24. The value of  upto 100 terms is equal to 

, then value of  is-

View Text Solution

1.1 + 2.3 + 3.5 + 4.7 + ... +

100 × 101 ×
k

6
k

25. If  where  are positive reals then the minimum value

of  is

View Text Solution

abcd = 1 a, b, c, d

a2 + b2 + c2 + d2 + ab ÷ ac + ad + bc + bd + cd

https://dl.doubtnut.com/l/_50aY6MAsFepF
https://dl.doubtnut.com/l/_vn4J0Lx3REv9
https://dl.doubtnut.com/l/_YunuXzmYhM19
https://dl.doubtnut.com/l/_WYoW8q9xXcsI


View Text Solution

26.  is the ratio of two relative prime

positive integers  and  The value of  is equal to

View Text Solution

360

∑
k= 1

( )
1

k√k + 1 + (k + 1)√k

m n. (m + n)

27. If  are arbitrary positive real numbers satisfying the equation 

 and maximum possible valụe of  is , then 

 is

View Text Solution

x, y, z

4xy + 6yz + 8zx = 9 (xyz) M

(2016M)

28. If  are non-zero real numbers, then the minimum value of the

expression  equals

View Text Solution

a, b, c

(
(a4 + 3a2 + 1)(b4 + 5b2 + 1)(c4 + 7c2 + 1)

a2b2c2

https://dl.doubtnut.com/l/_WYoW8q9xXcsI
https://dl.doubtnut.com/l/_nMl3eVOLEoIf
https://dl.doubtnut.com/l/_kL1zt86CSdIT
https://dl.doubtnut.com/l/_OcEaFD1LQOrp
https://dl.doubtnut.com/l/_wIOYjizusVeN


29. The value of sum  is equal to

View Text Solution

10

∑
r= 1

(2r − 1 + 8r − 3)

30. Let  be in arithmetic progression. If  ,

then  equals

View Text Solution

a1, a2, a3, ..., a21

21

∑
k− 1

ak = 693

21

∑
k− 1

a2r+ 1

31. Let  are the sums of infinite geometric series

whose first terms are  and whose common ratios are 

 respectively. If 

, then find the value of 

View Text Solution

S1, S2, S3, S4, S5, .... Sn

1, 2, 3, 4, − 5, ...n

, , , , ..., + 1
1

2

1

3

1

4

1

5

1

6

1

n

S2
1 + S2

3 + S2
5 + S2

7 + ... + S2
99 = 100k k

https://dl.doubtnut.com/l/_wIOYjizusVeN
https://dl.doubtnut.com/l/_nxlyIhJaxQPg
https://dl.doubtnut.com/l/_v89y8podcQhR


32. The positive integral value of  such that

, is

View Text Solution

n

1.21 + 2.22 + 3.23 + 4.24 + …. + n.2n = 2 + 2n + 5

33. For any  then the minimum value of.

 equals

View Text Solution

x, y ∈ R, xy > 0

+ +
2x

y3

x3y

3

4y2

9x4

34. Let .E=x^(2017)+y^(2017)+z^(2017)-2017 x y z x, y, z ge 0`) , then

the maximum value of -E is

View Text Solution

(where

35. The equation  has only positive real roots. The

value of  is

x3 − 6x2 + px − 8 = 0

p

https://dl.doubtnut.com/l/_RHfhTfYDt5AC
https://dl.doubtnut.com/l/_1DGnORvs8LXN
https://dl.doubtnut.com/l/_VoRCLWpGUVDN
https://dl.doubtnut.com/l/_Ldsc8pprUal6


View Text Solution

36. If  are the first three non-zero terms of a geometric progression

such that  and  forms another geometric progression with

common ratio 5, then the sum of the series , is.

View Text Solution

a, b, c

a = 2, 2b 12c

a + b + c + . . ∞

https://dl.doubtnut.com/l/_Ldsc8pprUal6
https://dl.doubtnut.com/l/_j8llrzvreqts

